Q T 7|8 £ (X 08-40=)

[ 20254 08E 20 17A| 2E ]

o= o8

- Q=~L)Q

=

i
ol
&3
ojo

> 2A7|7H
O (25) #M(7A) 2otz3ge 728

g2 TERLD HS0| 5ktz 20, AE2 10kmYL|CE 2520)2 22
FSA2|of SASLICE 75 BASLIC

2= H5 S0l flXIet o el

O (Lg) &= 5% sido

o

Ho

[XIet n7|gtef 7-gAt2 o SASLItE 718 B2

=N =]

ol Z|X/x[217]2 (O

Ol | DM Z2E(O) Ol &f Z==2Hmm)
(L) 24/33 (L) 34(&81) -

> R 7[H0E
O =Y e 380 =2 ZHO| o & LICE Of2| ZHAKXIO|A| Al St 7ot 22 MSota, 71 FEZ A|ZHR 2F 2~54]
O SQZ 2 =0\, YA 2ot FAZ 205N, 7128 BEYTE AHESH7| HHELICE
OZFERH2E) LHY 10A|~18A| AfO| ZFE BHSZII50°CO|ME 52 AR 04|l STAIE 2F X OfRZHe &
O F2l5k7| HighL|ch

AIZHE SHZ o2
aEay FEICTVEELTEECLTE ~ @sessss | coob | mebm [ poom
s 20 pit]
17 18 19 20 21 2 23 00 01 02 03 04
4 A A A A A A
ZE/HHE 7 7 < < < <
(kt)

(01-19) =29 =29 =20 =20 =z =T =Z0 =20 =T =Z:5 e =E5
=S 5,885 B 5= 5 = BjE5 5,585 5 HES B 5= 5 SR ET 5,585 5,850 =, 51=0 =, 64E0 = 5i=0
()2 Eeh240 Eeh240 E9180 Ee180 Ee180 E9180 E9180 Ee180 Ee90 E%90 E%90 Eeh90

!%!;T E2110 Z2110 =3 45 EE EEN] B BN B2 B B 45
3L
05 06 o7 08 09 10 1 n 13 14 15 16
w5/ < < < < < < < < )

(01-19) =Z5 =Z5 =Z5 =E5 =Z5 ==Z5 =Z5 Z5 =26 =Z6 =
Bk = H#Z0 = HZ0 o, BE0 H, W0 H, HE0 H, HE0 o, BE0 =, HZ0 = =8 = HES oW o W8
ERIYESS 290 20 E8.90 E.90 T 0 E8.90 E90 2320 E8320 Z8320 28320

.’Gtt'gr Z&15 Z&5 E&5 Z&5 Z&15 E25 E25 245 Z£110 E£110 E£100 210

XEZ/EHES SSE SF 20 Tt HiEHS o|0[5tH, tHel= kY (O ‘583 4= F20| 4kt S 2|0))
> Y
O g2
O Ak
X —3—637|M' |

& 3 ZEOf o XiME A2 &E87|4E ST 0| X|(amokmagoknOf A =kolgt 4= A5 LC.




S A Lol ClCF NS S O > |_
P 17| Il- '|9|-|:|'| F H J
0FE:|XA|7I o | <L | AX <

rE
o
m
3Q
o
rir
4o
e
oh
0ot
N
0r

H
) E




